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QUESTION 1

Protection Domains enable administrators to replicate which two items for Disaster Recovery? (Choose two-) 

A. Volume Groups 

B. Virtual Machines 

C. File Shares 

D. Disk Images 

Correct Answer: AB 

 

QUESTION 2

Refer to the exhibit. 

The reference exhibit above is from a newly-created VM. When the administrator powers on the VM. GuestOS
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installation is not happening What is causing this issue? 

A. Network boot is happening 

B. The GuestOS installer is corrupted 

C. The SCSI disk is corrupted 

D. GuestOS installer is not loaded in the CD-ROM 

Correct Answer: D 

 

QUESTION 3

What happens when an HDD fails within a Nutanix cluster? 

A. Data is reprotected automatically 

B. Data is unavailable until disk is replaced 

C. Data is lost and must be recovered 

D. Data is rebuilt to a hot spare disk 

Correct Answer: A 

 

QUESTION 4

An administrator with an AHV cluster notices that time/date stamps in logs for some VMs are not correct. After
investigating, the administrator finds that many of their user VMs are set to UTC 

What two methods can be used to resolve the issue? (Choose two.) 

A. Configure NTP within Prism. 

B. Configure the VMs time zone inside each guest VM. 

C. Configure the time zone for each VM using Prism. 

D. Configure NTP inside each guest VM. 

Correct Answer: AC 

 

QUESTION 5

Which Nutanix concept is responsible for accommodating and remediating node failure scenarios? 

A. Life cycle management 

B. Auto resolve mode 
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C. Data locality 

D. Self healing 

Correct Answer: C 
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